
 

 

                              Контрольная работа № 2(решение) 

                                       «Квадратные корни» 

                                                     Вариант 2 

               1)    а) 6√𝟏, 𝟐𝟏  –  2(√𝟐)2 = 6 · 1,1 – 2 · 2 = 6,6 – 4 = 2,6; 

         б) 8√𝟐
𝟏

𝟒
   –   3√𝟓

𝟒

𝟗
 = 8√

𝟗

𝟒
   –   3√

𝟒𝟗

𝟗
 = 8 · 

𝟑

𝟐
  –  3 · 

𝟕

𝟑
 = 12 – 7 = 5; 

         в) (√𝟏𝟖  – √𝟐 )2 = 18 –  2√𝟏𝟖 · √𝟐 + 2 = 20 – 2√𝟑𝟔 = 22 – 12 = 8; 

                                         Ответ:  а) 2,6  б) 5  в) 8 . 

    2)  а) √𝟔  ˃  √𝟓 , так как 6 ˃ 5;   б) √𝟏, 𝟓  ˂  √𝟏
𝟐

𝟑
 , так как 1,5 = 𝟏

𝟏
𝟐  ˂  1

𝟐

𝟑
 ; 

                                       Ответ:  а) √𝟔  ˃  √𝟓  б) √𝟏, 𝟓  ˂  √𝟏
𝟐

𝟑
 . 

3) а) 3√𝟐  + √𝟓𝟎  – √𝟏𝟖 = 3√𝟐  + √𝟐𝟓 · 𝟐  –  √𝟗 · 𝟐 = 3√𝟐  + 5√𝟐  –  3√𝟐 = 5√𝟐; 

                б) (2√𝟓  – √𝟐𝟕) · √𝟑  – 2√𝟏𝟓  = 2√𝟏𝟓  – √𝟖𝟏 – 2√𝟏𝟓  = – 9;  

                                          Ответ:  а) 5√𝟐  б) – 9.   

    4)          а) 
√𝟕−𝟐

√𝟏𝟒 − 𝟐√𝟐
 = 

√𝟕−𝟐

√𝟐(√𝟕− 𝟐)
 = 

𝟏

√𝟐
 = 

𝟏 · √𝟐

√𝟐 · √𝟐
 = 

√𝟐

𝟐
; 

                 б) 
𝟑 + √𝟑

√𝟏𝟓 + √𝟓
 = 

√𝟑(√𝟑 + 𝟏)

√𝟓(√𝟑 + 𝟏)
 = 

√𝟑

√𝟓
 = 

√𝟑 · √𝟓

√𝟓 · √𝟓
 = 

√𝟏𝟓

𝟓
; 

        в) 
𝒙𝟐−𝟑

√𝟑𝒙+𝟑
 = 

(𝒙−√𝟑)(𝒙+√𝟑)

√𝟑(𝒙+√𝟑)
 = 

𝒙−√𝟑

√𝟑
 = 

(𝒙−√𝟑) · √𝟑

√𝟑 · √𝟑
 = 

√𝟑𝒙−𝟑 

𝟑
; 

                                   Ответ:  а) 
√𝟐

𝟐
  б) 

√𝟏𝟓

𝟓
  в) 

√𝟑𝒙−𝟑 

𝟑
. 

   5)                                   а) 
𝟑

√𝟔
 = 

𝟑 · √𝟔

√𝟔 · √𝟔
 = 

𝟑√𝟔

𝟔
 = 

√𝟔

𝟐
;   

                 б)  
𝟏

√𝟕  − √𝟓
 = 

√𝟕 + √𝟓

(√𝟕  − √𝟓)(√𝟕 + √𝟓)
 = 

√𝟕 + √𝟓

𝟕−𝟓
 = 

√𝟕 + √𝟓

𝟐
; 

г)  
𝟏

√𝟒+𝟐√𝟑 
 = 

√𝟒+𝟐√𝟑 

√𝟒+𝟐√𝟑  · √𝟒+𝟐√𝟑 
 = 

√𝟒+𝟐√𝟑 

𝟒+𝟐√𝟑
 = 

(𝟒−𝟐√𝟑)√𝟒+𝟐√𝟑 

(𝟒+𝟐√𝟑)(𝟒−𝟐√𝟑)
 =  

  = 
(𝟒−𝟐√𝟑)√𝟒+𝟐√𝟑 

𝟏𝟔−𝟏𝟐
 = 

(𝟒−𝟐√𝟑)√𝟒+𝟐√𝟑 

𝟒
 = 

(𝟐−√𝟑)√𝟏+𝟐√𝟑+𝟑 

𝟐
 =  



 

 

           = 
(𝟐−√𝟑)√(𝟏+√𝟑)𝟐 

𝟐
 = 

(𝟐−√𝟑)(√𝟑+𝟏)

𝟐
 = = 

𝟐√𝟑−𝟑+𝟐− √𝟑

𝟐
 = = 

√𝟑−𝟏

𝟐
; 

                                               

                                      Ответ: а) 
√𝟔

𝟐
  б) 

√𝟕 + √𝟓

𝟐
  в) 

√𝟑−𝟏

𝟐
 . 


